Norrtalje BS
Sommarserie 6 2022-07-26

Partavling, 8 bord, 16 par. Antal brickor: 22. Medel: 154.0.

Plac Par Poéng % Namn MID Klubb
1 15 204.1  66.27  Anki Westlund - Eva Ekstrom 87178 18110  Norrtalje BS - Rimbo BK
2 16 181.1 58.79  Eva Brantingson - Tommy Storm 89760 14393  Vaddo BK
3 2 178.1 57.84  Karl Eriksson - Kicki Silverbern 66128 64384  Norrtalje BS
4 14 175.5 56.99 Hans Borg - Helge Johansson 63381 63379  Norrtélje BS
5 1 169.5 55.04 Evy Dahlberg - Peter Halldén 11725 2563 Norrtélje BS - Rimbo BK
6 9 163.8 53.19 Goran Mattsson - Birgitta Porath 6183 65086  Norrtélje BS
7 13 160.9 52.24  Karin Nyberg - Goéran Rydell 5059 13057  BK Lejonet
8 4 159.5 51.79  Anders Eriksson - Mikael von Unge 66141 37606  Norrtdlje BS
9 3 145.5 47.26  Stefan Svensk - Ylva Lundstedt 200298 200299 Norrtélje BS
10 10 143.9 46.71 Kjell S6derlund - Stina Séderlund 57024 57023  Norrtélje BS
11 12 141.1 4581 Ake Widman - Otto Slatis 2556 43297  Norrtélje BS
12 5 138.4 44.95 Birgitta Elding - Marianne Johannesson 30550 67743 BK S:t Erik - Norrtélje BS
13 6 136.7 44.39 Marianne Gloudemans - Ulla Jender 13037 31042  Lidingd BK
14 7 131.7 42.77  Lois Adding - Hjordis Sandberg 89206 2546 Norrtélje BS
15 8 123.0 39.92 Benny Hellman - Nils Eriksson 15033 11401  Sollentuna Bridge - Vaddd BK
16 11 111.0 36.05 Rainer Eketorp - Leif Tokics 8585 2122 Norrorts Bridge
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D107 #8386 #DKn
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vD108 v KKn54 vKn932 vE64 v Kn3 v 1084
¢+ KD9 ¢ EKn52 ¢ E7 +52 + EK6 2
#EKnB8652 #3 #ED1097 #K42 #E1097 #K6542
4932 4 K2 4 K5
vE9732 vD5 vKD92
+ 86 ¢ KD9863 ¢ D10953
K94 #Kn53 £83
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 7 3NO-3 v2 150 140 00|16 7 44 O-2 +K 100 140 00|15 11 44 O-1 vK 100 140 0.0
5 13 4v V-1 aK 50 120 20| 4 2 3NV-1 +4 50 11.0 30|13 6 3v N-1 2 -50 120 2.0
15 10 34DN-1 43 -100 100 40|15 10 3#V-1 +J 50 11.0 30| 7 14 34 0= vK -140 9.0 5.0
6 14 3& V= oK -110 80 60| 3 11 2¢ S-1 46 -100 70 7.0| 9 10 24 V+1 *Q -140 9.0 5.0
8 9 34DN-2 &3 -300 6.0 80|12 1 3¢ S-1 46 -100 70 70| 4 1 24V+2 *7 -170 4.0 10.0
3 11 3NO= v2 -400 3.0 11.0| 5 13 24 O+2 v5 -170 3.0 11.0| 8 16 24 V+2 *7 -170 4.0 10.0
12 1 3NO-= v3 -400 3.0 11.0| 8 9 34 0+1 + K -170 3.0 11.0|112 2 24 O+2 vK -170 4.0 10.0
4 2 3NO+1 a2 -430 0.0 140| 6 14 3¢ S-2 a4 -200 0.0 140| 5 3 4aV= *Q -620 0.0 14.0
4 49 5 4 K10542 6 495
Vast v K853 Nord v 63 Ost v 10642
Alla + D763 NS ¢ DKn2 ov + EKDKn84
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4 E32 4D & KKn104
v 109 v DKn982 v EDKn
¢ KKn942 + E863 ¢ 10652
K62 #Kn109 D9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 6 4¢DS+1 44 910 140 00|12 3 2vS= +8 110 140 00|12 3 3NS= «4 400 140 0.0
5 3 44V-2 «9 200 120 20|13 7 INV-1 +J 50 120 20| 1 15 3¢ N+1 2 130 10.0 4.0
15 11 4¢ S= 44 130 100 40| 5 2 INV= *4 -90 90 50| 6 4 4¢ N= «2 130 10.0 4.0
4 1 34V-1 «9 100 70 7.0|14 8 INV= +Q -90 9.0 50|14 8 3¢ S+1 A 130 10.0 4.0
7 14 34 V-1 +3 100 70 7.0| 6 4 INV+1 Ly -120 40 100 5 2 3¢ N= v5 110 6.0 8.0
9 10 24 O= vT -110 40 100| 9 16 INV+1 a2 -120 40 10010 11 5¢ N-1 8 -50 3.0 11.0
8 16 54DS-1 46 -200 1.0 13.0[10 11 INV+1 *4 -120 40 100(13 7 5¢ N-1 *2 -50 3.0 11.0
12 2 5¢DS-1 YA -200 1.0 13.0| 1 15 2NN-2 a7 -200 0.0 14.0| 9 16 4v N-4 +9 -200 0.0 14.0
7 « KDKn10 8 « ED843 9 410754
Syd v 9765 Vast v10 Nord v 383
Alla + E984 Ingen + 103 ov + E9864
8 #E9853 #95
4952 4E73 4 K9 a7 4ED92 4Kn86
v 103 vD84 vEKKn54 vD763 vK106  vKn4
¢+ DKn102 ¢ K5 + DKn7 + EK982 ¢ DKn10 ¢ K53
#EKKn3 #D10965 *K76 «D42 *K62 #E10873
4 864 4« Kn10652 4 K3
v EKKn2 v 982 v ED9752
¢ 763 4654 ¢72
*742 #Kn10 #DKn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 8 3NO-4 vK 400 140 00|11 1 44 N-2 +K -100 140 00|14 10 INV-4 v8 400 140 0.0
7 5 1INO-1 vK 100 120 20| 7 5 54 N-3 ¢ A -150 120 20|16 11 3NV-2 v8 200 120 2.0
6 3 Pass 100 40|12 4 5¢ 0= 4] -400 100 40| 7 4 2vS-2 +Q -100 8.0 6.0
16 10 INO= vA -90 80 60|13 8 5vV= s A -450 6.0 80|12 5 3vS-2 *2 -100 8.0 6.0
12 4 INS-1 +Q -100 50 90|14 9 4vV+1l *T -450 6.0 80|13 9 2vS-2 *T -100 8.0 6.0
15 2 24 N-1 *5 -100 50 90|15 2 4vV+l SA -450 60 80| 1 2 3aV+l *7 -130 4.0 10.0
14 9 240+1 vA -110 20 12.0|16 10 3NV +2 43 -460 20 12.0| 3 15 24 V+1 ¢ A -140 2.0 120
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11 1 44DO= YA -710 0.0 140| 6 3 4v V+2 Ly -480 0.0 140| 8 6 3¢ N-3 vJ] -150 0.0 14.0
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Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
1 2 2NN+1 «K 150 140 00| 2 3 INO+5 #3 -240 140 00| 9 7 5¢vDV-3 v9 500 140 0.0
16 11 3#S= ¢7 110 120 20|14 11 4v O +1 a5 -450 120 20(12 6 34 N= vyA 140 120 20
3 15 34 V-1 «A 100 90 50| 8 5 3NOH+3 3 -490 60 80| 8 5 2NO-2 T 100 10.0 4.0
14 10 24 V-1 ¢+A 100 90 50| 9 7 3NVH+3 v3 -490 60 80| 2 3 3vV-l *K 50 80 6.0
8 6 3NN-1 +3 -100 6.0 80|12 6 3NV+3 &T -490 60 80|13 10 2v V= *Q -110 6.0 8.0
12 5 24 V= *A -110 40 10.0(13 10 3NO+3 3 -490 6.0 80| 4 15 3v V= LY -140 20 120
13 9 2NO= *Q -120 20 120|116 1 5NO+1 *5 -490 6.0 80|14 11 2v V+1 *K -140 2.0 12.0
7 4 24 V+1 vT -140 0.0 14.0| 4 15 6¢ O= +5 -920 00 140|16 1 2vV+1 *K -140 20 120
13 463 14 87 15 « EK10952
Nord v DKn10752 Ost v EDKn6 Syd v 8743
Alla + D653 Ingen 48743 NS ¢ Kn2
+10 #ED3 &D
« ED8 & KKn542 4 D1064 & KKn53 «D 4876
v K984 v 63 v 982 v K7543 v 965 vD102
+10 ¢ Kn42 ¢ EK + 1062 ¢+ K10764 ¢ E93
#DKn853 %962 #9764  &Kn »EK96 #Kn532
#1097 « E92  Kn43
vE v10 v EKKn
¢ EK987 ¢ DKn95 + D85
#EK74 #K10852 #10874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 5 4y N= 5 620 140 00|13 11 4v 0O -4 +J 200 140 00(15 6 34 N+2 ¢A 200 140 0.0
12 7 3NS= 5 600 120 20(16 2 3¢ N+1 *] 130 120 20| 8 12 34 N+1 ¢A 170 10.0 4.0
10 8 2v N+3 9 200 90 50|14 1 2&4N+1 3 110 90 50|13 1 24 N+2 +3 170 10.0 4.0
13 11 3v S+2 T 200 90 50|15 5 2#S+1 ¢+A 110 90 50|16 3 24 N+2 ¢A 170 10.0 4.0
9 6 3v N+1 4 170 50 90| 9 6 2¢ N= *J 90 60 80|11 9 440-3 vyA 150 6.0 8.0
16 2 2v S+2 T 170 50 90|10 8 3¢ S-1 v9 -50 40 100 4 5 24 N+1 ¢A 140 20 120
14 1 2NS+1 6 150 20 120|12 7 3NS-2 a4 -100 20 120|110 7 24 N+1 2 140 20 120
3 4 140= YA -80 0.0 140| 3 4 2vyN-3 *] -150 00 140(14 2 34 N= ¢A 140 20 120
16 « E874 17 @- 18 « Kn876
Vast v Kn8 Nord v D653 Ost v Kn107
ov ¢ EKn83 Ingen + KD43 NS ¢ 42
#1098 #D10983 #EKn107
46 4 D95 4« Kn62 « ED875 4 E94 « D102
v EK109654 D72 vK4 v 972 vE5 v D83
+9 +D1042 ¢ Kn109872 ¢ E5 ¢+ KDKn973 ¢ E106
*K732 +D54 &E7 #Kn65 *K9 #D843
4« KKn1032 » K10943 K53
v3 v EKn108 v K9642
+ K765 +6 ¢85
#EKn6 &K42 #652
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 5 44 S= vyA 420 140 00(15 7 3v S-= ] 140 140 00| 1 10 5¢ V-1 46 50 140 0.0
8 12 5vDV-1 &4A 200 120 20|16 4 2NO-1 43 50 120 20|11 8 3NV= vJ] -400 120 2.0
13 1 34 N= v2 140 90 50|14 3 Pass 100 40| 5 6 3NO+1 v2 -430 9.0 5.0
16 3 34 S= +9 140 90 50| 1 10 24 O= +6 -110 70 7.0|14 3 3NV+1 *7 -430 9.0 5.0
10 7 34S-1 vA -50 40 100| 2 13 24 O= +6 -110 70 7.0|15 7 3NO+2 v4 -460 6.0 8.0
11 9 44 S-1 vA -50 40 10011 8 2NO= a4 -120 40 100| 2 13 3NV +3 a7 -490 2.0 12.0
15 6 34 S- vK -50 40 100 5 6 INV+2 v5 -150 20 12012 9 3NO+3 v4 -490 20 120
14 2 4v V= s A -620 0.0 140|12 9 24DO= +¢6 -470 0.0 140|16 4 3NO+3 v2 -490 20 120
19 483 20 4« Kn875 21 « KKn73
Syd v EDKn6532 Vast v EKn6 Nord vKn3
oV ¢ K65 Alla ¢ 10964 NS +KD74
&K K9 &EDS8
& ED65 « K1074 4 ED1064 4K 4DI9865 oE
v98 vK74 v D4 v 1098753 vKD1097 v6542
+10 + E984 + D53 + KKn7 + 10 + EKn862
#E108764 #D9 *642 D103 #Knl10 »K62
4« Kn92 4932 #1042
v10 v K2 vE8
¢ DKn732 ¢ E82 4953
#Kn532 #EKn875 #97543
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 11 3NO-3 vyT 300 140 00 1 9 2¢0-2 T 200 130 10|14 5 INN+1 ¢+2 120 13.0 1.0
4 14 1y N+2 ¢4 140 110 30| 6 7 24V-2 ¢T 200 13.0 10|15 9 INN+1 ¢+2 120 13.0 1.0
16 5 2v N+1 47 140 11.0 30| 4 14 2NN +2 v7 180 10,0 40| 2 10 2¢ O-1 vA 50 10.0 4.0
15 8 340-1 vyT 100 80 6.0|13 3 INS+1 4 120 80 60| 3 1 INN-1 +6 -100 80 6.0
1 9 2vN-1 v3 -50 40 100(10 12 2¢O-1 «A 100 40 100( 6 16 3v V= + K -140 50 9.0
6 7 2¢vN-1 *Q -50 40 100(15 8 3v0O-1 42 100 40 100 7 8 3v V= + K -140 50 9.0
13 3 2¢y N-1 *9 -50 40 100|16 5 3v0O-1 42 100 40 10.0(11 12 2v V+2 ¢*4 -170 20 120
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